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if (num > 0) {
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import java.util.Scanner;

class web{
public static void main(String[] args) {
EF—EMRE Scanner sc = new Scanner(System.in);

_ N int ;
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if (num <= 100 && num >=90) {
System.out.printf('%d - ZA\n", num);

MR R#E<=100 mHE >= 90 }
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System.out.printf('%d ZB\n", num);
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Y TBy if (num < 80 && num >= 70) {
System.out.printf('%d-=C\n", num);
ME M4 <80 MHA >=70 }
By TCy if (hnum < 70 && num >=60) {
System.out.printf('%d-=D\n", num);
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System.out.printf("%d=F\n", num);
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import java.util.Scanner;
class web {
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int num;
num = sc.nextint();
if (num <= 100 && num >=90) {
System.out.printf("'%d=A\n", num);
} else {
if (num >= 80) {
System.out.printf("%d=B\n", num);
} else {
if (num >= 70) {

System.out.printf("%d-=C\n", num);
}else {
if (num >= 60) {
System.out.printf("'%d-=D\n", num);
} else {
System.out.printf("'%d=F\n", num);
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}

Import java.util.Scanner;
class web {
public static void main(String[] args) {

Scanner sc = new Scanner(System.in);
int num;

num = sc.nextint();

if (hum <=100 && num >=90) {

System.out.printf( , hum);
}
if (hum <90 && num >= 80) {
System.out.printf( , hum);
}
if (num < 80 && num >=70) {
System.out.printf( , hum);
}
if (num <70 && num >= 60) {
System.out.printf( , hum);
} else {
System.out.printf( , hum);
}

import java.util.Scanner;
class web {
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int num;

num = sc.nextint();
if (hnum <=100 && num >=90) {
System.out.printf( , hum);
} else {
if (num >= 80) {
System.out.printf( , hum);
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EHEENE ? if (num >= 60) {

System.out.printf( , hum);
} else {
System.out.printf( , hum);



}

Import java.util.Scanner;
class web {
public static void main(String[] args) {

Scanner sc = new Scanner(System.in);
int num;

num = sc.nextint();

if (hum <=100 && num >=90) {

System.out.printf( , hum);
}
if (hum <90 && num >= 80) {
System.out.printf( , hum);
}
if (num < 80 && num >=70) {
System.out.printf( , hum);
}
if (num <70 && num >= 60) {
System.out.printf( , hum);
} else {
System.out.printf( , hum);
}

import java.util.Scanner;
class web {
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int num;

num = sc.nextint();
if (hnum <=100 && num >=90) {
System.out.printf( , hum);
} else {
if (num >= 80) {
System.out.printf( , hum);
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REGIE ? if (num >=60) {

System.out.printf( , hum);
} else {
System.out.printf( , hum);




import java.util.Scanner;
class web {
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Scanner sc = new Scanner(System.in);
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import java.util.Scanner;
class web {
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int num;
num = sc.nextint();
if (hnum <=100 && num >=90) {
System.out.printf( , hum);
} else {
if (num >=80) {
System.out.printf( , hum);
} else {
if (num >=70) {
System.out.printf( , hum);
}else {
if (num >= 60) {
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System.out.printf( , hum);
} else {
System.out.printf( , hum);




import java.util.Scanner;
class web {
public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int num;
num = sc.nextint();
if (num <= 100 && num >=90) {
System.out.printf("%d -ZA\n", num);
} else {
if (num >= 80) {
System.out.printf("'%d =B\n", num);
} else {
if (num >=70) {
System.out.printf("'%d - =C\n", num); |f...elseE_$E r — /'\/£ ]
} else {
if (num >= 60) {
System.out.printf("'%d =D\n", num); T\"HQ:%\E:%\E/\]EE
}else {
System.out.printf("'%d=F\n", num);
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